Korean language class in MUNI

B Case particles 3 — 2|, 0|, 2t/1}, [ui, e, wa/gwal]

1. The case particle 2| [ui]

The case particle ‘2|[ui]’ indicates the possessor and possession relationship between two nouns, as in A A 2|
8tjeimseuui bang] “James’ room.” The first noun is typically the possessor (since it is attached by the particle),
and the second noun is the possession. The case particle 2|[ui] is the same regardless of whether it attaches to a

noun that ends in a vowel or a consonant, as in =%2| 7F[sujanui gabang] “Susan’s bag.” and & L 2| X|[toniui
jigap] “Tony’s wallet.”

The first person possessive pronoun Li[nae] (plain form) and Xl|[je] (humble form) are combinations of the first
person pronouns and the particle:

Lt[na] “I (plain)” + 2|[ui] = Li[nae] “my (plain)”

3 AL Lto| (LH) 25 3}0t. [geu geoseun naui (hae) undonghwaya.] “As for that, (it) is my sneaker.”

X [jeo] “I (humble)” + 2|[ui] = H[je] “my (humble)”’

EOtA= X O| (H) X LIC} [tomaseuneun jeoui (je) chinguipnida.] “As for Thomas, (he) is my friend.”

In a similar manner, the question word ++—*2|[nuguui] “whose” is the combination of the question word “+T[nugul]

“who” and the particle 2|[ui], as in O] A2 £ 2|[nuguui] H X| 0| &7 “As for this, whose letter is (this)?”

As seen above, the function of the particle 2|[ui] resembles that of the English suffix -’s. But, there is one clear

difference in their usages. English allows to end with this the possessor + ’s construction, as in “It's Steven’s.” or
“It's Andy’s.”. However, Korean does not allow the possessor noun ending with the particle. Consequently, a

sentence like 11 ZAFE= AE[EQ|0|2. [geu keompyuteoneun seutibeuuiyeyo.] “As for that computer, (it) is
Steven’s.” is unacceptable. For this purpose, a bound noun Z[geot] “thing” typically appears after the particle, as
1 AFEHE= AE[E2] A 0|0 2. [geu keompyuteoneun seutibeuui geosieyo.] “As for that computer, (it) is Steven’s
(thing).”

In colloquial and informal usages, the particle 2|[ui] can be often omitted. For instance, =%t 7I2[sujan gabang]

can be used instead of $=%F2| 7}2[sujanui gabang] “Susan’s bag” and AE|E Z{[seutibeu geot] (or 2E[E

7[seutibeu geo] for a more colloquial usage) can be used instead of 2 E| 2 2| Zd[seutibeuui geot] “Steven’s (thing).”



In summary, there are three ways to express a possessor—possession relationship in Korean:

1) noun 2|[ui] noun, as in & 0F2| X|Z [emmaui jigap] “Emma’s wallet.”
2) noun noun, as in &0t X|Z} [emma jigap] “‘Emma wallet.”

3) noun A[geot] (or H[ge0]), as in & O} Zd[emma geot] (or AOF A [emma geo]) “Emma thing.”
2. The particle Of [e]

The case particle 0i[[e] is a one-form particle that expresses four things:

(1) the static location- “in,” “at” or “on”

The static location refers to the place where something is (being), at or in.

Z=ZHo| Zofl RO K. [sujani jibe isseoyo.] “Susan is at home.”

it
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M0 E0t]. [chaegeul chaeksange nohayo.] (1) place a book on the desk.”

Notice that all the location nouns above (e.g., &[jip] “house”, M4t [chaeksang] “desk”, =A{&[doseogwan] “library”)

are marked by the particle Of|[e], since they are all static locations.
(2) the goal of the action (e.g., destination) - “to” or “at’

st 0f M3} 2. [hakgyoe jeonhwahaeyo.] “(1) make a phone call to school.”
i AlZt10)| 7+L. [naeil sikagoe gayo.] “(1) go to Chicago tomorrow.”

HIE 7|7t 25 oIF 520 =382 [bihaenggiga oneul incheon gonghange dochakhaeyo.] “The plane arrives
at Incheon airport today.”

Notice that the goals of the actions marked by the particle Ol|[e] are all inanimate objects (e.g., =% [eunhaeng]
“pank”, &% A[gyeongchalseo] “police station”, Lt2Hnara] “country”, &t 1l [hakgyo] “school”). In addition, when the
particle is used with motion verbs like 7tC}gada] "go”, 2 CHoda] “come,” and =%t5tCHdochakhada] “arrive,” the

particle indicates a destination (e.g., A7} [sikago] “Chicago”, $H=[hanguk] “Korea”, & &t [gonghang] “airport”).
If the goal of the action is animate, the different particles, such as $tH|[hante] and 0| All[ege], are used.

“(1) make a phone call to Thomas.”

+ EOFA0| M3} K. [tomaseue jeonhwahaeyo.] (X)

= EOFASHH| M 2}5 K. [tomaseuhante jeonhwahaeyo.] (O)

(3) Times - “at,” “in,” or “on”

Q27T 10 A0 TV E Et2. [ojeon yeolsie TVreul bwayo.] “(l) watch TV at 10:00 a.m.”

2t Lo TtLER. [hwayoire mannayo.] “(Let us) meet on Tuesday.”

-

Q@30 H}tt 2. [ohue bappayo.] “(I am) busy in the afternoon.”



One should be careful not to use the particle with all time nouns, since certain time nouns, such as O] X|[eoje]

“yesterday,” 2=[oneul] “today,” and L & [naeil] “tomorrow,” do not take the particle Oi[e].
“(Let us) meet at Starbucks tomorrow.”

+LH Lo AEFHAO|A PR, [naeire seutabeokseueseo mannayo.] (X)

=Lj Y AEFHAO| A PHLER. [naeil seutabeokseueseo mannayo.] (O)

(4) quantity- “for” or “per,” as in “per day.”

SHZR 0| & AIZE TV & 2 M 272 [harue myeot sigan TVreul boseyo?] “How many hours do (you) watch TV per day?”
1 2tol2 ok #Hof| YOkoll 27 [geu waineun han byeonge eolmayeyo?] “As for that wine, how much is (it) per bottle?”

3. The particle 2}/, [wa/gwa]

The case particles 2}/dwa/gwa] mean “and.”. First, The particle 2}/dwa/gwal] is a two-form particle. 2twa] is
used with the noun that ends in a vowel (e.g., EO0tA2} §|L| ¥ [tomaseuwa deniel] “Thomas and Daniel’), and

Hgwal] is used with the noun that ends in a consonant (e.g., Gl L| 21t E0tA[denielgwa tomaseu] “Daniel and
Thomas”).

X "@ap FL7F 2 AE0 A0tR. [je hyeonggwa nunaga boseutone sarayo.] “My older brother and older sister live
in Boston.”

W S8 AtTtet 55 0tE £0}etL| Lt [nae dongsaengeun sagwawa boksungareul johahapnida.] “My sister likes

apple and peach.”

B Vocabulary
7} Al[gage] store
7}2[gaeul] autumn
S 2 [gonghang] airport

Al [gyosil] classroom

El

1 3|[gyohoe] church

7| E[gireum] oil

7| =5 AHgisuksa] dormitory
= XHnamj] man

=[don] money

L[ttang] earth

HtCtbada] sea

5t X|[banji] ring

& A [byeongwon] hospital
gt[bang] room

£[bom] spring

=[bul] fire

At2t[sagwa] apple
AtXHsaja] lion

At % [sajin] picture

4t[san] mountain

Al Al[sigye] watch

Ot X|[abeoji] father
Sk=[yakguk] pharmacy
O Xtyeoja] woman

& 4[yeolsoe] key
2[os] clothes

2 Z[ilbon] Japan

Xt& XHjadongchal car
Xt 7 [jajeongeo] bike

3= [jungguk] China

™% [jeonjaeng] war

X| L jigap] wallet

Zjip] house

M7 [seojeom] bookstore

AtEf[satang] candy

Z 7 El[keompyuteo] computer

H[pen] pen
I 3lpyeonghwa] peace
S}=[haneul] sky

= Hhotel] hotel



H Exercises

Exercise 1. Translate the following into English or Korean:

Example: M| LI 2| 74} = “Jennifer's bag.” or “Jacob’s car.” = X|0|F2| X}

2. AMZIo| OfH K|
3. 271 A
4. F=9 AlA

5. Hoseok’s key.
6. Jimin’s picture

7. Taehyung’s room

Exercise 2. write a sentence using the cues provided.

Example: M3H/Z& = Mot Ho| QO L. “The telephone is in the house.”

2. K| Z/xt
3. 7tH2nE
4, Mt

5 X[/MZ

Exercise 3. Answer the questions in Korean using the cues provided.

Example: 01 C| 7kM 272 (church) = 3|0 7tL. “(1) go to church.”

1. (bookstore)

2. (hospital)

3. (airport)

4. (friend’s home)

5. (mountain)



Exercise 4. Full in the blanks with either 2} or 1}, and translate the phrase into English.

Example: 0| & 74E= 0] &1t 742 ‘simmer and Winter”
1. o= M=
2. & tE
3. AR A&
4 6"% CCH
5 OfXt At
B Conversation
X|2[jieun]: O| 2|F &7 HLIX| LOt? [i oetu nugu geoinji ara?]

“Do you know whose coat it is?”

ME[seojun]: 2M|... & ZECH LT 2EHE 0| 2O0{=7? [geulsse... jal moreugessda. ildan bunsilmul hame
neoheodulkka?]

“Well... | don't know. How about we put it in the lost and found box?”

X|2fjieun]: A ZZICt. 2 I™ME 53 2. ZSA| 3¢ 20| AQULE? [geuge johgessda. mulbyeonggwa
gongchaekdo nohgo gassne. hoksi geuphan iri isseossna?]

“That would be nice. Someone left a bottle of water and a notebook too. Maybe someone had something urgent?”

MZT[seojun]: AHA... O|H| & =AM & =0 0" == gld|, YTt ALMH| L2 EE|A}. [geureoge... ije got doseogwan
mun datneunde. eojjeol su eopsne, ildan saseokke malsseumdeurija]

“Yeah... But the library is closing soon. There is nothing we can do, let's tell the librarian first.”
20|[somi]: &7H 1S Cf Lf &7 =0|0} [jamkkan! geugeosdeul da nae mulgeondeuriyal]
“Wait! These're all my things!”

MZ[seojun]: OF 12?2 O|X| 07| 2 BEto L)} BAS 0| 0| S 77} M 23101, [a geurae? ije yeogi got mundadeunikka
bunsilmul hame neoheodulkka saenggakhaesseo]

“Oh really? Since the library is closing soon, so we thought about putting these in the lost and found box.”

2-0[[somi]: &, O|Qtel... ot TotE HAEL EM A|ZH0| O|= A 4|, 418 MF=0{A 1n0tL|! [at, mianhae... geuphan
jeonhwareul badassdeoni beolsseo sigani ireohge dwaessne. singyeong sseojueoseo gomawo!]

“Oh, I'm sorry... | got an urgent call and it's already this time. Thank you for your concern!”

MZ[seojun], X|2[jieun]: MELO], 2| EH=2 FAIS| & OFA CHEHO|CH [cheonmane, neoui mulgeondeureul musahi
doechajaseo dahaengida!]

“You're welcome. It's a relief that you got your things back safely!”




H Answers

Exercise 1.

1. &2l YHX| = Namjun's ring

2. MZIo| OFH{ X| = Seokijin’s father
3. &7| A= Yunki's

4. ™M=9| A|A = Jeongguk’s watch

—_

5. 29| "4 = Hoseok’s key
6. X|2Io] AHEl = Jimin’s picture
7. EHEOl & = Jeongguk’s room

Exercise 2.

1. HMA0| DA 20 8. [chaeksangi gyosire isseoyo.] = “The desk is in the classroom.”

2. X|Z+0| Xtof| 2LO{ K. [jigabi chae isseoyo.] = “My wallet is in the car.”

3. ZtH2t7t &ofl /L0 2. [kameraga jibe isseoyo.] = “The camera is at home.”
4. Mol gtuof A L. [chaegi hakgyoe isseoyo.] = “The book is at school.”

5. X|$10| 20| L0 K. [jihyeoni seoure isseoyo.] = “Jihyun is in Seoul.”
Exercise 3.

1. MO 7t{. [seojeome gayo.] “(I) go to the bookstore”

2. HL0| 7tQ. [byeongwone gayo.] “(1) go to the hospital.”

w
OH

810l 7t2. [gonghange gayo.] “(1) go to the airport.”

I
rt

9| Z0f| 7tK.. [chinguui jibe gayo.] “(1) go to the friend’s house.”
5. 40l 7k8. [sane gayo.] “(l) go to the mountain.”
Exercise 4.

1. $F=1} A2 [hangukgwa cheko] “Korea and Czech Republic”

2. &1 7t2 [bomgwa gaeul] “spring and autumn”

3. AMX}e} AbE [sajawa saseum] “Lion and deer”

&
ok

=1t & [haneulgwa ttang] “The sky and the earth”

5. O{Xte} EX} [yeojawa namja] “A woman and a man”






